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Niall Horan - Still

tom:
Ab (forma dos acordes no tom de G )
Capostraste na 12 casa
Intro: A G/M A G7M
A G/M A G7M

[Primeira Parte]

A
My mind is complicated
G7M
Find it hard to rearrange it
A G7M
But I'll have to find a way?somehow
A
Overreacting?lately
G7M
Find it hard?to say I'm sorry
A G7M
But I'll make?it up to you somehow
D Dbm Bm A G7M
I just don't know why

D Dbm  Bm A G7M
Stars won't shine at night
[Refrao]
D
Tell me you want it
G7M
A thousand miles away from the day that we started
A
But I'm standing here with you, just trying to be honest
G7M
If honesty means telling you the truth
D G7M
Well, I'm still in love with you
[Segunda Parte]
D
Did I miscalculate this?
G7M
Let's just go back to basics
G7M
Forget about what's coming on
D
'Cause I hate to see us like this
G7M
Breaking up on nights just like this
G7M
We should be shooting for them stars of gold
Acordes
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[Refrao]
D
So tell me you want it
G7M
A thousand miles away from the day that we started

A
But I'm standing here with you, just trying to be honest
G7M

If honesty means telling you the truth
D
Then I guess we lost our focus
G7M
And it's killing me that we could go to war like this
A

But I'm standing here with you, just trying to be honest

G7M
If honesty means telling you the truth

D

Well, I'm still in love with you

[Bridgel
C G D
0Oh, we'll be alright
C G D
0Oh, it'll be alright
C G D
Oh, we'll be alright
C G D A
Oh, it'll be alright
[Refrao]

D
So tell me you want it

G7M

A thousand miles away from the day that we started

A
But I'm standing here with you, just trying to be honest
G7M

If honesty means telling you the truth
D
Then I guess we lost our focus
G7M
And it's killing me that we could go to war like this
A

But I'm standing here with you, just trying to be honest

G7M
If honesty means telling you the truth

D

Well, I'm still in love with you

Dbn Bn C

E

[=]
E a | | | E E
2 h 2 2
w o e w
= ] = e
= = = =
5 5 5 £ e :
e[ ]: e ¢ :
= T = =
ER 3| E E
=] _‘c:l =] =]
@ @ @



